IIPOTEINOMENEY AYZEIEX
ZHTHMA 1°

(@) nu(2x+30°) — avv(y - 129 = 0 = nu(2x+30°% = oov(y — 12° =
qov(90°-2y-30°) = oov(y-12°%) == ovv(60°-2y)= ovv(x-12°) =
60°-2¢ = 360°% +(x— 129 Kxel

() 60°- 2y =360%+ x~12°=> -3y =360%-72 = [y=-120°+24° , kel

(1) 60°- 2y = 360%—+12° =—=360%+48° ={y=-360° +48° , x e

(B) 200w —Snuy +1=0= 2(I-quiy) —Snux + 1 =0=2 -2y’ - Snuy + 1 =0 =

2y +3npx =3 =0 = (2qux + Dy +3) =0 =
l- o
(V) 2nyy—1=0= nuy = 5 D= nu30° =

x =360% + 30° 5 x=360%+150°
k=0 =|y=30" , |y=150°

ck=1= y>360°
(1) nuy + 3 = 0 = nuy = -3 Adbvary efiowon

()
28+2  2a-28
ouv2fi—ovvla _ Znu ;T _ Mrm(a"ﬁ) = 24 (a
nua +qu2f Zny2a+2ﬁcruvza_2ﬁ MUUV(O:—/)’)
2 2

(i1) cuv4Bouv3B ~ Nu8nud =

= —;-{I:m)v (48 +36) + ouv (46~ 3:9)] - [JUV(B@ -8)-ovv(86 + 9)]}

_)
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1 98 + 4 99 - ¢
—2ovv ouv
2 2 2

I

= —(,a:af/ﬁ+o-uv€—_c:av7ﬁ+ovv99)=

2
= guv5i8 ovvid

ZHTHMA 2°
(@) (Mu26+auov26)? + (nu28-cov20) —2ovv20=

= nu*26 + ovv* 26 + W +nu’ 20 + ovv?20 —W —200v26
= 1+ 1~200v20 = 2(1 ~oov20) = 2(1-1+ 2710 = 4’6
(B) nu(6+60°) = 2nub yia 6 =180"k+90° , ke Z

= nubovvel® +nub0°ovvl = 2nuld = —,]5?];16’ + ?auvt? =2nud =

= Inub =~ovvl  Maipd ue oovh=0 (6 =180°x+90° , k e Z)

= 340 =3 = e¢e=i3§- = epf=£p30° = [ =180°c+30°| ke Z
2 2
2 . - aut’foi;zyﬁ -
1 - 2
(}J) (l) ] £¢29= O'!)l;g - 9 ! 20'01‘/29_7}'#29:6[)1/29
1+ &0 L4 e evviemnle-
ouvid M
O] 2 L 1+ HZ
) 1 +£¢29=1+g¢29+ 2g¢5fz _l4sg 5+225¢9: (1+&¢8)
ovv26 C 1-s¢’0  1-64'0 1-4’0 (L+07) (1- £46)
_ 1+6p0 _1+8945°696 _ VTS :
1-egf 1-¢£¢45°540

(1)
] +e¢20 = gd460 = & (6' + 4S°) =ggdf =
ouv2d

= 0+ 45° = ]180%+46 = 30 = -180°%+45° = | = —60°k +15°| , x € .

ZHTHMA 3°
(%)
(1) V. =y =6"=216cm*, = [V, =216 cm’
y=12cm
(i Vo=afy= 216=x2y 12 2y*=9 =3y =3cm
y=06ocm a=y B=2x Ia =3m , ﬁ = 6cm| .

() E, =6y’ = E, =66 = |E, =216cm’

Ei,, =2(af + By +ya) = Ep,, =2(36+612+123) = |E,, = 252cm’

Map
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B
— (1) R+v=9 (@W>R), Ex=40mcm®*= 2nRv =40 = Rp =20
R+y=9 .
» Ru=00 W t20=0 = (- 4)(-3)=0 =3 =45 x=5 (W>R) =
'L):

|u = 5cm|, l&= 4cm]
(1) E, =Ey +27R" = E, =407 +274* = E,, =21 cm’]

V=nRvo=V=745=V=80rcm’

()

A =90°, (AB)=(AT)=4acm. (AE)=2a
(BI)*=(Al)*+(AB)? = (BI)*=16a*+160° =
(BI)*=32a= BT = 4aq/2

Va =V -V

Kawvou Hutagaipion

1 2 14 3
Vo = 37(AB) (AD') -~ 7 (AE)

1 2 14 3
V., =—n(4a) (4a)-—2
oA 3”( a) ( a) 2 3”(2‘1)

_64na’ 167’
3 3

Ep =B 0 +E s +Es = E, =7 (AB)(BI) +%-47r(AE)2 +7(AB)' -7 (AE)’

Vs

= WV, =16z’ cm’

E, = (AB)(BI)+7(AE) +7(AB) = E,, =z (4a)(4av2)+ z(2a) +7(4a) =

E, =16za’V2 +4na® +1670* E, = 1670’2 + 207a* = E__ =4ra? (4\[£+5)cm2
ZHTHMA 4°

(&)

(1) Ep, =60a® cm®, E_ =110 = 60a® =32av =
2 2a)* V3

X ‘E =( a) ‘/_ =a2J§
4 4

E, =E,, +2E; ®E_ =602’ +2a*3 = |E,, = 2a° (30+J3’) em’

r (u) E, =

A =20 cm B

() V=Ev=V=a"V30a =V =10’ 3 em’®

B
KMT: (KT) =(KM)' +(Mr) = (4\/5)2 =K +4 =k =64

A
KOT': (KM} =(KO) +(MO)’ =(8)" =v* +4* =50 =48 = [v =43 cm

H, +64=?+64:192:> E, =192¢cm’

E

ot =En +Eg =
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Eyo 64443 2563 |, 25643

V=
3 3 3 3
Vzmu. = Vyey.xu»l - V,unr ok, ZVKOJ..Kmvou (A?A): xz—_:a2+u2 =
Vysyxul :ﬁ(AE)ZAB =7E(2a)2'4a=]67ra3 Y= {1.\/5
mexwl = m(AZ)" Al = :r(a)z-za = 2na’
#(EZ) ,
Vi ot Koo = ({AE)' + (AEXAZ) + (AZ)")
7 3
= (45{2 +2a’ +a2) -z
3
Tna® 287’ 2870’
Vz,rr,',u = 167{0{3 _27TO-"3 -2 3 = 3 = szfr.u = 3 cm3

EOA. = EKME}'.KUA. + EK JuK. KU + ZEKon.xmvou
= 27(AE)(AB) + 27(AZ)(AD) + 27 [(AE) + (AZ)|(AA)

=2m2ada+ 2rala+2n(la t+ a)a\/i

— 1670 + 4na’ +6ra’ A2 = 207’ +6maid2 =

E, =2na’ (10 + 3\/5)cm2

ZHTHMA 5°
2 2

(a) J{S;{“ —%+2de= j(sx“ “3pt w2)dr=[ 0 4377 +2;(]|2

1 X i

=|i32+3+4il—[1+3+2]:6—3
2 2 .
dy (=22 ) -(r-240)(2x) _dy _ 20" -2

7t =2y +1
Y Sz SIS JEN
(ﬁ) W Zz +1 X e d_x (Iz N ])2 dx (Zz +1)2

() gz=0:>212—2=0:>2(;(—1)(;{—1)=0:)Z:I,;(=—1

to x=-1=y=2=max(-1,2)

X |- LJ 1
% +0 B 0 i x=1=>y =0=> min(1,0)
— 7 T 7y oyt pelmp=22402)

y
&
Doy =a,=21=2 :>;,m3=-é

dx
Eliowon epanrousvnc aro A(1,2) =y —2=2(y-1) =y =2y

Eiowon xaBetne oto onueio A(1,2) = w -2 = —%(z—l): ¥+2py =5
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1 17 117

1 1 2
B(z,, P 2y = =——= = +l=v—+tl=—=B| ——,—
(Z.¥)) S il O e T ( p 16]

ay
;=2,'rz>/1“_5 :22«’])

ZHTHMA ¢°

1 d: .
(o) y/=x3+}—3—:>%=312-—3z‘4 = dx{z6;{+1215

p3
x2§%+g%—9w=xz (6z+12;g'5)+;g(3;52—3;,5"’)—9(x3+1'3)
= 517+ 3 - 3 0 - 9372 <0

B _[(1+17yz+0‘uv2;()dx=z—cu%+j-]—-tz;—v—%&dx=z——ouvx+%[z+g—%~{J+C

=3

—auvz+z‘1—£42—z+c

L w=art+ Byl _ _
(v @) A(]";):u=l’w=4}:>4-a+ﬂ+3:>a+ﬂ—l (1)

=2ay+f o
=2atf=0o= f=-2a ma-2a=1a=-1, f=2

(W) y=—2+20+3, x=0=>y=3=(0,3)
Y=0 = * + 23+ 3=0= 223 - 3=0 = (-3)(xt1)=0 = =3 1 r=1=(3,0)

, (-1,0)

3

/ E= 3_[de= I(-—zz +2z+3)dx
-1

3 k]
E=[-%+f+3x} =(—9+9+9)—G+1—3)
-t

E=—r7u
3 H




